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@ 4.9a=490ha
(@)0.54 ha = 5400 m?

O 25km? = 2500a
® 6800000 m? = 680 a

® 370a = 3.7m?
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1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a = 0.49ha

® 6800000 m? = 68000 a

® 370a = 37000 m?
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D 0.04 km? @ 0.4ha ® 400a
@400000 m?2 ® 4ha
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@ 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha
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D 2.48 +8=0.31
@ 42+4=1.05
®423+3=14.1
@126+9=14
® 153 +6 =255
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D 96+24-1.2 @ 96+24+1.2

® 9.6-1.2+24 @(9.6—1.2) +24
® (9.6+1.2)+24

& o] o] A= 7S] FAI7F 9.6 kg ol AFH .
WSl FA7E 1.2kg € W, 25 F B FAE B kg AA]
[e)

S35 249 £ 9.6 - 1.2 = 8.4(kg)
S 13O 271 8.4 +24 = 0.35(kg)
e ke A2 (9.6 -1.2) = 24 JU .
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> HEHD 112.125km
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1AIZE Bt 2F A2 = 69 + 4 = 17.25(km)
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719} vhe] ol 2 viol A Azte) B,
7= @ x 60

= 190 x 90 = 17100 m?

714 14=2.37ha = 23700 m? ©| 22

@ X% 60 + 17100 = 23700 m?

@ x 60 = 6600

@ = 6600 + 60 = 110(m)




